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OKCNMKauma NoMeLLeHiA. SKCNMKauma NoMeLLEeHIiA.
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M M2 M2
KeapTupa Ne63 [MomeLyeHwre V (MecTa obLLero nons3oBaHns)
1 Mpuxoxasn 3.6 1 JlecTHMYHas kneTka 21.9
2 |KyxHa-ctonosas 15.8 e 2 |Kopugop 404 B0
3 |CnanbHs 9.4 ' 3 |Kopugop 29.6
4 |Cly 36 4 |Nudproson xonn 87
5 |BankoH (k=1/k=0,3) 2207 |34.6/33.1 Keaptupa Ne55
KeapTupa Ne64 1 Mpuxoxxasa 38
1 |Mpuxoxas 35 2 |Cly 37 -
2 |Cly 3.7 — 3 |KyxHs-Huwa 50
3 |Cnanbha 9.3 ' 4 [XKunas 10.7
4 |KyxHa-ctonosas 15.8 5 |BankoH (k=1/k=0,3) 3.1/0.9 | 26.3/24.1
5 BankoH (k=1/k=0,3) 22/0.7 |345/33.0 KeapTupa Ne56
KeapTupa Ne65 1 Mpuxoxas 3.8
1 Mpuxoxasn 6.3 2 KyxHsa-cTonosas 18.7 378
2 |(Cly 38 3 CnanbHa 1.3
3 |Cnanbhs 10.5 477 4 |Cly 40
4 |Cnanbhs 8.7 5 |BarnkoH (k=1/k=0,3) 5.0/1.5 |42.8/39.3
5 KyxHsa-cTonosas 18.4 KeapTupa Ne57
6 |BankoH (k=1/k=0,3) 2.2/0.7 |49.9/48.4 1 Mpuxoxasa 3.8
KeapTupa Ne66 2 Cly 4.0 376
1 Mpuxoxasn 6.2 3 CnanbHsa 11.2
2 |KyxHa-ctonosas 18.3 4 |KyxHga-cTonosasa 18.6
3 |CnanbHs 9.0 47.6 5 |BankoH (k=1/k=0,3) 2.9/0.9 |40.5/38.5
4 |Cnanbha 10.2 KsapTupa Ne58
5 |Cly 39 1 |Mpuxoxas 6.5
6 BankoH (k=1/k=0,3) 5.1/1.5 |52.7/49.1 2 lappepobHasa 3.3
KeapTupa Ne67 3 Cly 4.4 588
1 Mpuxoxasn 38 4 |CnanbHg 12.3
2 |KyxHg-cTonosas 18.6 377 5 |CnanbHs 1.8
3 |CnanbHg 1.3 ' 6 KyxHsa-cTonosas 20.5
4 |Cly 4.0 7 |BankoH (k=1/k=0,3) 3.5M1.1 |62.3/59.9
5 |BankoH (k=1/k=0,3) 4.4/1.3 |42.1/39.0 KeapTupa Ne59
KeapTupa Ne68 1 Mpuxoxas 6.2
1 Mpuxoxag 41 2 KyxHs-cTonosag 185
2 |Xunas 10.5 2.0 3 CnanbHa 9.0 47.9
3 |KyxHa-Huwa 5.0 4 |CnanbHg 10.4
4 |Cly 34 5 |Cly 3.8
5 |BankoH (k=1/k=0,3) 3.6/1.1 | 26.6/24.1 6 |BankoH (k=1/k=0,3) 511.5 55.5/50.7
7 |Nopxug (k=1/k=0,5) 25M1.3
Keaptupa Ne60
1 Mpuxoxas 38
2 |Cly 4.0 9748
3 CnanbHe 11.3
4 KyxHg-cTonoBag 18.7
5 |BankoH (k=1/k=0,3) 43/1.3 [42.1/39.1
Keaptupa Ne61
1 Mpuxoxas 3.6
2 KyxHg-cTonoeag 15.6 223
3 CnanbHe 9.4
4 |Cly 3.7
5 |Nopxug (k=1/k=0,5) 25/M1.3 [34.8/336
Keaptupa Ne62
1 Mpuxoxas 3.6
2 |[Cly 3.7 99%
3 CnanbHe 9.4
4 KyxHg-cTonoeag 15.8
5 |BankoH (k=1/k=0,3) 2.2/0.7 [34.7/33.2
TlosTaXkHbIit 1aH
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